
Le convoi fantôme

Les solutions

NIVEAU  4 – Solutions

2 + 3 = 5

1 + 3 = 4

S'ajoutent à ces solutions, les réponses utilisant la commutativité.  

NIVEAU  5 – Solutions

3 + 0 = 3 3 + 1 = 4
+ +
6 6
= =
6 7

3 + 2 = 5 3 + 3 = 6
+ +
6 6
= =
8 9



NIVEAU  6 – Solutions

2 2

4 + 3 = 7 3 + 4 = 7

3 3

9 - 8 = 1 9 - 8 = 1

5 5

2 2

3 + 4 = 7 4 + 3 = 7

3 3

9 - 1 = 8 9 - 1 = 8

5 5

1 1

3 + 5 = 8 3 + 5 = 8

3 3

9 - 2 = 7 9 + 7 = 2

4 4

1
5 + 3 = 8

3

9 - 7 = 2

4



NIVEAU 7 – Solutions

3 3

x x

6 8 6 8

2 x 9 = 18 6 x 4 = 24

3 24 3 24

6 x 4 = 24 2 x 9 = 18

18 18

3 3

x x

6 8 6 8

2 x 9 = 18 6 x 3 = 18

4 24 4 24

6 x 3 = 18 2 x 9 = 18

24 24



NIVEAU 8 – Solutions

6

x

7

28 + 28 = 56

+ 42

8 14

8 x 6 = 48

7 42

28 + 20 = 48

56

8

x

7

28 + 28 = 56

+ 56

6 14

8 x 6 = 48

7 42

28 + 20 = 48

42
Les calculs possibles :
8 x 6 = 48
6 x 7 = 42

8 x 7 = 56
28 + 28 = 56

28 + 20 = 48
28 + 14 = 42



NIVEAU 9 – Solution

16 : 2 = 8

x x

4 x 5 = 20

= =

8 x 8 = 64 160 : 5 = 32

x -

6 4

= =

48 28


